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QUESTION 1

Which statement about shared containers is TRUE? 

A. A shared container is an independently compiled unit 

B. A local container can be converted to a shared container 

C. A shared container can be converted to a local container 

D. A container cannot be created by selecting a group of stages and links in a job 

Correct Answer: B 

 

QUESTION 2

Which statement is TRUE about Balanced Optimization? 

A. Balanced Optimization is installed with InfoSphere DataStage. 

B. Balanced Optimization creates a parameter set called BalOpJAQLParams in the underlying project if it does not
exist. 

C. Balanced Optimization will change or optimize machine configurations, InfoSphere DataStage configurations,
database configurations, or HDFS configurations. 

D. Balanced optimizations are performed in a priority order. When there is ambiguity (for example, some 

processing could be performed either in a source or target database) processing is pushed into database sources. 

Correct Answer: D 

 

QUESTION 3

The encrypt.sh or the encrypt.bat script can be used to do which of the following? 

A. Secure sensitive personal data 

B. To set up credentials files used by the dsjob command 

C. Assisting in decoding encrypted rows of input during debugging 

D. Assisting in preparing encrypted rows of output during job execution 

Correct Answer: D 

 

QUESTION 4

Consider a customer with multiple environments, Development, Test and Production. Which statement is TRUE? 
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A. Each environment must have a C++ compiler. 

B. QualityStage rule sets are not a type of deployable asset. 

C. It is not possible to revert to a previous version of a package. 

D. A package can contain an improved version of a job which will replace the old one. 

Correct Answer: B 

 

QUESTION 5

A job consist of Sequential File Stage -> Copy Stage using auto partitioning -> Sequential File stage. We need the
target Sequential File stage rows to be in the same order as the source file. Which collection algorithm should be
chosen in the target Sequential File stage? 

A. Auto 

B. Same 

C. Round robin 

D. Sorted merge 

Correct Answer: D 
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